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1) mwn
a) Nw™M

i) 79v25wn DaRN AR DHY Ry 7592 Y unw

b) xo°0

i) 7 RO 2PN DIRN AR N°22 MIWY? WK PR 1390

2) Xn»™M32
a) Rw™M

1) 2R Hwn nHIIR YR A

b) w90

1) 7X17 RTIW DIPR2 2IRN TR IRON

3) Inshort

X )

XN*72

1wn

AR Ywn N9 [RW]

%17 XO7W 1P DIRN [XD°0]

NWRI 9

717 ROW D3P YORN [RD°0]

79v2 Hwn YoKRN [Rw]

TR W A

4) xma

a) The miwn and the &n>>12 aren’t °1mo each other because
i) maR na% 72°% 791772 IR

i) 2K n°2% 99°% 79177 NIRA IR

5) mooin — k2 of the v w of *n1°X by an w111

6) mnpn
a) First TP

i) Annwx who is at ax n°a for any 937 is 2R Swin YN

i) The mwn and &n>>72 deal with whether an nwx at nvnw nyw is 72°2 19177 to
mar n»a for the coming 93

b) Second nnTpn

i) Annwx is 79177 to go to 9372 7°ax N1 to be nmaw 7an that she was considered

W in nn N2



7)

8)

9)

i) Sometimes an nwx is 79177 be nnaw 7 in ax noa even before the first 53
after ano

1ii) Once an nwx goes to AR N1 it’s certain that she was then 772w 723 and
won’t be 719177 again

c) Third 7P

i) It’s a poo whether an awx is 719177 to ar n°a on the first 73 after her nown if
she was already nmaw 7an before the 537

ii) If an 7wy didn’t go to 72X n°2 for MWK %31 — it’s a po0 whether she’s 19177 to
IR N2 0N 1w 9an to be nmaw Tan

iii) An qwx isn’t 79177 to AR n°2 on the second a0 after nown if she was already
nnaw 7 before that 53

d) Fourth mn7pa

i) Ifanawx is 79177 to AR noa the 7S 772K Swn o8N

il) If an WK isn’t 79177 to Par N2 the 7 is 7Hva Swn HaRN

iii) If there’s a poo whether she’s 79177 to 7°2x 02 the 197 IS X1 Xonw D1PHA PORN
The mawn deals with the following cases
a) XM — 792 Swin 2oRN

i) This applies to an upcoming non? *1w 237 where she’s not n°2% 772°% 79171
772 because for nwx 737 she went to 7°ax n°2 and was 72w 7o

b) X9°0 — %17 RW DPR2 DIRN

i) This applies to an upcoming 2% PR 931 where it’s a poo whether she’ll
be 119171 to go to 772k n°a because she was already imaw 7°an before the 53

The &n>>12 deals with the following cases
a) R — AR Hwn 9IKRN

i) This applies to an upcoming 1N NwRY 731 where she’s 719177 to go to N2
IR because she wasn’t fnaw 7 before the 530

b) X9°0 — 7¥17 XOW DPP2 PORN

i) This applies to an 7wk who didn’t go to i°ax n°2 for nnoT? PwR1 YA and it’s a
P90 whether she’ll be 719177 to go to ax n°a for an upcoming noIA? *1w 23

il) X"wmn points out that if she does go to 7°ax n°a for non? 1w %3 that 53 will
count as n2°%7% NWRA 930

X"

a) The xo°0 of the &n>>12 can also deal with the facts we set out for the xo°0 of the
mwn

b) Since the 1>7 for the xo°0 of the miwn is also %17 X>nw DPr2 YO8N
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1)

2)

TP'TY TR KD INY DINENR ORP KD 1" 2vobn

plah!
a) vwin said mxe21 during the times of “pri mx ony ¥ ny
b) There is no &>21 who wasn’t nopn four o271
C) MM

i) ywit was the first of four o°&>21 who said nx°21 in P97 MR

i) The four o>&"21 are ywIm — WPYw” — 0MAY — 7271
el i ihshi

a) a oo teaches that 7> said nx»21 starting with the m3%» of v7°mw 12 any and
continuing with X and yprn — but o1y was alive and was vaini when the nixo»
of any began

b) so in effect 72°n said nix>21 during the times of four 0°5%» the same as ywin

3) H"wann

4)

a) Although the mo» for o1y mentions only that he said nix21 in the times of ymy
the 7105 means that his nix>21 began in the times of v 1w but in fact his nx»21
continued during the times of any — X - “p1n

b) This explains why the & nx here says that oy was &21n1 in the times of four o225
X"wIn
a) Nwp

i) This is a pm7 for which %"wn has no proof

(1) 73m "y means only that the four a°x>21 said nx°21 at one common point
during the lifetime of "1y

(@) nmwoin at ¥Pny "2 "7 supports this 77an
(2) and
(@) when the x 3 says every &°21 was nopn four o°%n

(b) The xmx is obviously not 7 because there were many o°x°21 who
didn’t overlap four o9,
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1) xama
a) 'R Rn™M32
1) A person can be 105 j27p vmw for o°1vp7 1021 12 even if they’re M
i) But he can’t be noo 129 vmw for his wife and o°21727 1021 12 if they’re M
b) "axn»2
i) Xw™
(1) 127 w2 nRYD MO 175V 127 LYY WYY 1210
i) X9
(1) ARmAd 22WN N IWT 0721737 N2 12 INWR 1) TN
2) mooin as explained by x"wann

a) xw of the xn>>1a deals only with 0°1vpn 1021 112 because it’s only the xo°0 of the
xn>>1a that deals with \nwx and 2°91737 1021 12

b) Now

i) The xwn that deals with o°1vpn 1021 112 is a MY wd since 0°1vpP:7 1021 112 need to
be 121 Hwa Xx even if they’re X772 A

i) The xman of the xn>12 is that \nwk and 2°21737 1021 112 aren’t 127 YWn R¥Y
because their nv nw counts as a ixnn even though they weren’t 8772 7mn
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1)

2)

3)

25PN '521 227 P''D 'OIN2 29N2T MINVA2 TV 79N 298Ip RAIT 0N
hyakkimn}
a) A P vRm 7ay vEn

i) can’t be Xw1a 1 na because of his m7ay v and he can’t be Xw a nnow
because of his 111 312 130

il) 127 1210 to be 7nwn the 72y ven so that he can be pow in 271 95 to be o»pn
— 7I¥° N2AWY IR02 707 RO

b) Note that it’s ynwn from the &n>>12 that
i) If the person were 72y 912 he could be a7 15 a»pn by being kw11 a nnow

i) And it doesn’t matter that 72 o910 PYI7TR PR and that his 7%°va will count as
M nva

mooin as explained by x"wann
a) Nwp
i) anomnis N to an 7av and also to a > n meaning an 72y who was amwn

i) a2 rem 7ay ren was a full 72y until v was 2amwn so his 171 12 »en
has a 17 of i

iii) why can’t he be X1 a namn
b) y1n

i) If the pwyrp of the naman by P 32 1 is 090 then his 72y v is 72 wnnwn
WOR WX

ii) And if the Pwy7°p isn’t 090 then his 7%°va is a nar n°va
Twnn of MvoIN in YR Noon mentioned by X"wan here
a) Nwp
i) To°Ra maxw without perrp
ii) After all we’ve established that
(1) 72y 1> can be xw1 a nnow even though 1% va is a nmar n w2
(2) And besides a q1n can be xw a anow even though n2°va is Nt N w2
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1) X3 in pwia noon

a) If an awx is PN n2 ¥ anow X0 we’re ANNW? 727 1o if 7pe AT 12w
2) nmooIn

a) xwp as explained by x"wnnn

i) We can accept that if 2ps77 3731 172 1371 X we’re not Mmw 19315 for her to be
27 "9 0P because she’s not R7po°a on a2 "o

i) but still
(1) even if q9poi aman 72 M1 KD
(2) why aren’t we 1w 1012 for her to be o»pn - 79%° N2W? 812 1707 R?
b) yn

i) since she’s not X7p9 0N 271 15 we can’t assume that she’ll be 0% X2 o»pn
7% NAWY ARN2
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BT 22T RN D'OY WIS AN 1R AN DY 2R 7A AR 2TEP KDY 10 Thna ''ra
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1) mwn
a) if an 7ay is vmw for his 21 a >3 and a 7%V as a nod 127
b) the 21 eats the one that the 72y brought first

2) X
a) Nwp

i) Since 7772 PR we don’t know which 3297 the 21 had in mind nv nw nywa and
both mi12p should be mox because of this poo

b) v n
1) IRW 729m) 771
C) Mmoo

i) the x7m3 means that 7% and 5% are used to o°17v» 217 and it makes no
difference to them "wn> oX 1w oR" 790 OX 73 O

3) X"wann
a) by saying wno oXk 1w R — MooIn teaches that

i) even ifan 72y is vmw two o>>73 — instead of 7501 >3 — for a 27 other than 79
729m

ii) the 21 can eat neither because we don’t know which >7x he had in mind nywa
Y
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1?7y oD aw

PIRTS RO 5oy 10 MOD 2WYH MW NTOPY S¥a RYT INRY NOR N''RY 10 mwn 7' 7a
W'Y AT 2T PAR IOD AT MR MINT SIIPY WA KOT 7' RDINRT RIT ROWIP IR
2D W AN IO 9O VAR TUAN B2 '0INT 'R0 TOPY WaT ORTY ¥''ob
YAZYD TRIY IORT 1NAT MRS ININTD WO AR 'N2 920 KX 21708 ' wNDwS onT

15'mY 90 RN RDIRY RIT 13ATAT J90 1ZI0 PY YA KDY B9 moph aw

1279 PR 7% 10 207 19 "1 FT9RON 95T AR MIRISRT AT TAyaT ' ' Ta
N2 9799 NRY 2D NDISNM WIVRRPT 21N MARPT INPD 91 5oy 10 1310 RV
723572 "INR2 191 RADPIR KD TAYITAT RAT TOANDDT 2R VT IOMAD 2N 1Y
1D 3ATD RPW WYY 2217 2N »'R TR 3w ahnns® K9 'R Tanna v
WYY 2217 RNWAT 2MAPWD pIIaY T IR 'S nuanmY oD 2910 1wy RY RPN

22'117Y 1TODA TO20YR Y9OM T DT MYD PIITY 1A

1) mnpn

a) nod Imn means a left-over nos — a nna that was wpyn for nos 1297 but for some
reason wasn’t brought as a 1o 127

b) noo anm is 2axr1 only 7921 1o the same as noo 129p
2) XnUM2

a) TR 1910 K17 210D MOOT IR DN TR Q1 RXAN 7772 77 37000 MNP 12N W
1Y 1ODM PNV 79°Wi N°A°

3) X
a) Nwp

i) Let each of the five bring a new 1277 and say the new 127y is onbw if the
person was 1105 127 K¥ with his first 1297 and the new 277 is his nos 1297 if
his first 1279 was a om Hva

b) v n

i) It’s possible that the first 1277 was a 1105 1277 So that the second 127p is
actually a o°»now but because we’d be wwi that the 127 might be ros we’d be
forced to take the a1 7 for noo 127p and apply it to onbw

c) xwp of "nod amn " as set out by *"wA
i) "Moo amm b T i on Chw ox 1LY [ nenna"
4) moon

10



a) nww of *"wa as understood by m»oin
i) Let each person be minn

(2) first that if his first 772 was a an and was aw> as noo 1299 then he’s w>7pn
the second 2 as n1od NN

(2) and second that if his first 7n72 was a o1 Hva and was 9109 as nos 129p
then he’s w>7pn the second 12 as his nos 127p

b) xwpon "wvn
i) how could the jwpn» have proposed this 777
i) it’s a muw» that a person can’t be w>7pn a mna to be oo AN
c) y™n
i) the jwpn asked that
(1) let each person be w>7pn a new »ma as nod 2P
(2) the result would automatically be that

(@) if his first j21p was a o1 Hy2 and was 2105 the new j27p isa valid 129p
oo

(b) and if his original 1277 was a on and was 2w> the new 1277 is r1od NN
5) X"waon at non ay

a) °"wn didn’t mean that the first half of the *Xin is that the person is w>7pn the mnana
as a nos MmN

b) Instead >"w means the following 7%mn that’s similar to m»oIn except that *"w-
mentions the possible result that the fni2 becomes oo “n before the other
possible result that the 772 becomes noo 129p

i) Let each person be m3az w>7pn the second 7»h2 as a [nod 122

i) The result would automatically be that

(1) festthat if his first 127p was a an and was w5 as nod j27p the second nna
IS 70D NN

(2) and-second-that if his first 121 was a o1 %vya and was 7109 as no» j27p then
he’s-w3a-the second nnaa is his oo 12p

6) Twnn of the X
a) 1IN
i) A j29p can become oo i only if at first it was w7 to be a nos 129 *RN
7) Further qwn: of the & ma
a) xwp as explained by >"wA
i) Let each of the five persons buy a o5 ann from o121
(1) And be mann

11



(@) if his original nos that day was oy 2¥2a then the newly bought nnna is
his noo 127p

(b) if his original nos was an then the newly bought 7n7a continues as
giobnighta

8) mooin at N a7
a) Nwp

1) There is a "nR7 &n that a 129 that was w7 for nos 1277 but wasn’t brought
as oo 127 — a nod N — needs no Py and automatically becomes a 129p
aMalpli/

i) So how can any one of the five say that if his original nos that day was 0w %v2
then the newly bought ros ana that’s a 2w is his nod 12p

9) X"wann
a) xwp on the x*wp of mdoIN

i)  Xnoy "9 agree that 7Py is needed 1wt o7 before nos 27y and wnra on 27w
nod and that without 7Py the 1297 continues to have a 17 of oo 129p

b) 10 to explain the x>wp of mpoin

1) Mmoo in its X*wp assumes that since the 121 were 102 7 PRYY for oo 129p
the case counts as a1 nx> for the nos Anm

10) wni of Mmoo as explained by R"wamn
a) y1nto the xwp of mooin
i) although the o> 5w were 1217 >7° PRYY
i) still
(1) one of the five buyers will be 1217 >7° X% with a 2 that a 25w is selling
to him
(2) so the case counts as 112 where X2y >910 agree that 71°py *va
11) qwnn of the &

a) Here are three similar %170 similar to the earlier y17°n of 9 on why it’s not
possible for the five to buy nos an and then to set out the *xin we mentioned
earlier

i) First y»n
(1) The five won’t be able to do 115°10 as is needed for o now
(2) Because the 127 might be rios and there is no 172°1o for nos
i) Second y°n
(1) The five won’t be able to do "7 37w minn "2 as is needed for onhw
(2) Because the 129 might be oo and there is only one fann
iii) Third yy°n
12



(1) The five won’t be able be to do o771 np>1 as is needed for oonbw
(2) Because the 127 might be oo and needs 12°5w
b) xwp to the third y1°n
i) let the five do n>»w for the 127p
ii) because on>w for which there is 72°9w is w2
c) y™n
i) n12ww for anow is aonna% Mox and is aws only 7av°7
2) moown at 7272 v 1 AT
a) Part 1 as explained by x"wann

i) The same X>wp and y171°n that the X nx applies to 72°5w also applies to an and
m>°»o and NNy

i) Namely that
(1) Although to apply the o°17 of nod 129p to 2%w isn’t 5019 72¥°72 the onow
(2) n%nn3a% it’s Mok to apply these o°1>7 to onbw
b) Part?2
i) Xwp
(1) Why is it that

(a) because of a poo that the 129p each of the five brings is obw and it’s
10 XOw to apply to it the o°107 of noo 127p

(b) we cause the person whose nos 1277 was a 0w va to be 75 21
i) v

(1) four of the five persons brought a an noo and their n1327p now have a 7
oW

(2) Better that one person be n13 2»n than that 211 improperly treat a onbw as
noo

3) X"wann
a) Nwp
i) why don’t all five treat the j2p as 25w
ii) So that 1211 would be acting properly for their j27p that’s onbw
b) pmT72 YN
i) the reverse of what the x7n3 says for on%w isn’t true for nod
i) namely if noo is treated as o»>w the nos is 9109 even 72372

13
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1) mwn
a) "W PWRD D7 773W M Y N0 DR VMW 21977 1127 MR
D) Ay YRR DR 71 PRI 77
2) X
a) Nwp
i) Presumably ax was 731 only the 12 who in the end would be w1 75w
i) nrnyaw that 72w
b) vynof am " in our X
i) 2x was mnn all of the o2
i) He said "pwxa movw on" only 115
C) YN in 71 noon
1) 2R wasn’t 7aan any of the 012

i) The o°12 were o°1vp and no »°» is needed for them based on a X n» that nw
MAaR n°a% isn’t RNMIRT

iii) The o°v15 of Mmak N2 nw not being Xn>>7IRT aren’t relevant here
3) mooin as explained by x"wann

a) our X7nx agrees with the X3 in o°771 that ark wasn’t 73an any of the o212 and the
mawn deals with o°avp 12 who need no »n

b) the X3 here says there was "1 only in the sense that o°1vp o°12 count as if there
IS N

4) X"wn
a) Nwp

i) Then when the X2 asked that 77072 w7 n°n yaw why didn’t the &3 answer
that the mawn deals with ooavp and all count as 1n

b) y»n
i) the X7 in fact means to give this answer

ii) But the X3 needs first to explain that it’s because 11717 75 that 172k said °n
WX 723w even though all counted as 1™n

14
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1) xn»a
a) 172717199 1w 95 MYM D190 R WY K7 PR2WY N9 00
2) X as explained by mooin and R"wann
a) Nwp
1) Presumably we’re onp the 231 when we say that the my» go to wpn
i) But if the sale isn’t valid the nmi27p still belong to the 251 so there’s no 03P to
him
b) v

i) it’s the npY? we’re 01 — his mwn» are ;72717 9911 even though he’s not 19157
with the 297

i) We do this to deter the np1% from again trying to buy nu2a1p from other
persons

15
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1)

2)

3)

B
Xn>>12 as explained by X"waan
a) mwn NN N0 VYR O

i) 7127 are w7 that 7w v°°n7 — a person who brings a nos 1217 can for payment
be namn another on the 129p so long as the person who brings the 1297 uses the
payment to buy rios 127p 2%

ii) because 37°m05 DX PR WTPR 12 NI 7Y
b) -2n disagrees with 7329
X nx — the np1onn between 21 and 3129
a) One 7nR7 181 says that

i) both >21and 3127 agree that a person can use the payment to buy o°xy for %3
of the noo 129p because this counts as a 7 for the nos 129 whose i is
physically 791 on the o3y

il) 27 goes further and says that the payment can also be used to buy 21721 7%
101 that aren’t o°>7% that affect the 71 of the oo 12 as much as 1535 ooxy

R"wan — %2 of the Xna

a) If it weren’t for 7w ¥>ni we wouldn’t have allowed payments to be made even
for \n»5x% ooxy because 0%y don’t count as the 7 of the 1297 and are only a 7y
of the noo 12p

b) The oo teaches that payments may be made for nos 1297 °31% because 797 1nv1
when the noo 1297 is brought and once we know that 75% 1nv7 we can accept that
IO DR ORI WP 10 Nan By — compare nn a7 mooin where mooin takes a
similar approach for a different 7w in °21 the details of which aren’t relevant
here

¢) -a1and 1327 are P nn on what things count as 131x of the 713 of the nos j21p for
which it can be said that 72% j1nv7
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1) xma

a) o°wiwho are 777 *1195 701 can pay for the needed 1 of two mow by giving
money to a >33 Hw 7 n°2 who put the money into a 791w and use the money to
buy m=w from various o°1om

2) Mmoo
a) Nwp as explained by x"wnnn
i) Now

(1) If all the money in the 79w is paid to one 1o it’s possible that the money
for each wx happened to buy both mow for that nwx

(2) And based on 77°72 we can make the assumption that this occurred
ii) But
(1) If the money was split among different >1>1m and money for one 7w could

have been paid to one 23y and money for the second mw could have been
paid to a different 701

(2) »7n0 13X that it can’t be that the money paid by an 7wx happened to buy
both mow for that Twx

(3) And ais of no avail in a case of >7170 1K
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129N RIRY 72 7O9Y PUMIR 77217 RDOD2 ANPT D 57217 IPAINRK 1777 217 IR
QAR 217 77212 39Y RWON2T NPRT 2 21N 212 770 NINP RWON 23R 2WR PNNINRAT
IR RN T RN 772 910 RPT RNMN2AR ROR RVIWD 79D KDY 21 7a1D 2P nw

By 'ma Y PumR Tarm
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721X ™20 'N1 WY 2" TN

B oY "D T 920 BN TTIR R 11D 1B2IRD PPRIDY PRI Y 77772 [N TN KX 7]
STTYAT 9957 MR B 11D JIORW RN DR 5727 99BN 21702 M1 INPT PAINRR DY
ROR X977 9017 9297 RN 910K INDT PR ORTY PAINRADT MWDK 10 3" 199N K72
P''5D SNRT 15 2OWI DTN PRAY IORY RDID2 21 SINPT RITT YO0 RONK KT RAND
772909 1277 729 K7 9017 92T RNDRA OPIONT YRR 7T RN DaR AP 1omMT
NS0 WD} MannT RAND {1127 IRRT AR} DR SInpTa 7 91T RYN I0 1IN

B'"P1 DITD YT IMINGDY Row {Rnyw

1) mwn

2)

a)

b)

c)

Part 1

1) P02 501 " AT M 02T TR DY oD DR UMY PR

Part 2

1) 779 POMW PR N7 PIDRY POIDY PR 8% 2w 77120 190K
Part 3

1) D°0UPY 0°723 DOWI MMAT PV PR

Xn*172

a)

b)

Part 1

i) A7 " 5127 A HY N9 IR PUMY PR

Part 2

1) 3%y oMW PR 798D 199100 PRI TP 1OV PUMY 122IR? 21971 T 0N 201 M

3) nmoon at aawy 5"7 on the Xn»M2

4)

a)

b)

777 "M is wwn for /oo »1vh vk’ k5w and therefore agrees with >0 ' in part 2 of
the xn>>1a that 1071 P12 7R WY

The meaning of 5109 >1°% 17R°2> X isn’t relevant to this R"w1n

X"wAnn

a)

b)

Xowp

i) why didn’t maoIn say the same for part 2 of the mawn regarding 121 fixn
aRb1

i) Inthe mwn

(1) it’s ynwn that the reference to o1 " applies only to part 1 and that part 2 is
stated xnnoa and so applies for 1%y 715 including 7797 " in order that
2100 77 IR ROW
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(2) the same as it’s ynwn later in the X3 that part 3 is also stated x»no2 for
R12Y 091

i1) But the xn»92 says 772 that it’s °01 "1 who says part 2 and that’s why msoin
needs to make clear that 777 ' agrees with °01° "3 in the &n>»12 the same as he
agrees with >0y "y in the miwn
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V7 X711 UK 2" TN

RN RIPR T2 RPDIT PRWR IR 9% '52) 10 JuP X9 2K 7''72 [2 TIRY KX 07]
BaR RN7 PWRIT PRDRN IWT 9357 20T RI7 NI N7 9B P12 KR 27927 90w "o
DR RAT MRY 102 BAT N1 T2HRY 'O DD B "o 2"y S0 "an Ko
TUPT 2D JAPD 320 AN 2OM0D "2 02 DITITR JUPR WORM uynk 3''ah b UK

5wy WIRR OH uyRn KDY RIT ARY 2152 DANT 2997 1w DT

1) x7m as explained by msoin

a) ov "relies on "yp 89 woR" to derive that oonoo 1w 12 70w Jvp doesn’t bring a
*1w 10D because *1w noo isn’t a ¥y °192 931 but is Pm>wn for wra nos that
occurred before the up was 97731

2) nnipnto the qwni of Mmdon
a) Xn>°M2at ¥ 570N 2°NoD "W 1A T TP

i) °21 - the yvp needs to bring a *aw noo because the P05 "27pn RS "7 71270 0"
deals with »aw nos and teaches that *1w oo is a 1%y *192 731

ii) 01" —the P doesn’t bring a *1w 1o because "2 pn &Y '7 1270 2" doesn’t
deal with »1w oo and in fact »1w nos is a Pm1>wn for WX and isn’t a 192 73
nYY

3) mooin
a) Nwp
i) Then why does >0y "1 in our X°x10 need to rely on "yop 891 woR"
4) R"wamn
a) xwp to the xowp of mooin

i) °"wnat 2°n> "7 explains that "oy ' agrees with >21 that 2099 X2 "7 7299 °D
deals with >1w noo that’s a ¥3y °192 930

ii) So it’s understandable that were it not for "yup 8?1 wX" *01° "y would have held
that o°noo 1w 1°2 70w Jup would bring *1w nos

b) By the way note that >27 isn’t w17 that jup 89 wox and >21 in fact holds that jvp
0°10d "W 12 2>7A0w needs to bring a »1w nos
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2ANSW NP ORTIT PP 2oy "2 NWTRR PRT 2P X oY " et R 7'
RO NN MM 23007 AP 12 071 10 RPDI NIIDWT ROTT RIS DD B '0inn
DYDY YW DT JUR VYAY T2 RONR TIUIR U O WOPRIR KDY "3 Bap
TP VWIWRIR NI TR WIRR NIPHR fY9T PRITRT 2''527 annaT NOAen 50 DaN
DI % PRT 3190 Ri7T 190K DD WIRM 101 0P uYRh PRNY 2207 X7 09 nhen

TP'NTY PIYTR 2R R0 RAT NIORR ayun 07T 07 W PR

1) X

a) from "n>2% aw mar naab aw weR ok P prg ' derives that weR can be 7211 on
behalf of others based on mn>%w but a Jvp can’t be 7211 for others

| QMINRY MDY 99719 PR JUP | NaR n°2% AW wR o PN | PIX> "7 1797 R |

2) "n1eRa™n
a) Nwp

1) why in P17 does the X3 need to derive that jup can’t be 11 for others
from "o13n 120K 57 WK

QMINRY NI 9719 PR TR MR n°2% AW R o mpn PIX> "7 1797 XA
2IIIRD NIDTY M7 I PR U 10150 19N DY WIN PRATP
b) v n
i) inour X

(1) we derive mnbw both for a 9173 and a jup from a T»°% by [rp 12 ywine
based on ">Xw° 7Y 9P 92 noo DX YY"

(2) And that’s why "nw wox 0% wmpn" is available to be v ynn that jup can’t be
7o for others

i) inpwrp
(1) the xa derives mimow for a 7173 from "w wor 0777 P so this p1oo isn’t
available to teach that a Jup can’t be 7511 others

(2) and that’s why the X3 needs to derive the v n for a1 by a jvp for others
from "9aR *5% woR"

maro "7 17 PR P mmsw
Ry
U2 172 TR 12 12 YW 7 1707 RO
5P 92 oo NR I e
SR N7V
n"ab aw weR a2 mpn PIX> "7 1757 R2a
max
MR A TR Mnhw PR
Max n°2ab aw v onb
10190 179K 8% WX PR

3) X"wann
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a) Nwp

i) We’ve established that the X>x10 here derives m°%w from nos: nx yonw both
for 5173 and up

(1) it follows that the v from "aw wor on% wmp71" is needed to teach that
although a o can be a m°%w still he can’t use that mn>»w to be 17011 for
others

i) but for the X nx in LR

(1) "nw wox o mpn" teaches minhw only for a 7173 while a yop has no 17
mmbw at all

(2) why does the x7na there need a separate 71°% to teach that a jup can’t use
mmow to be 70 for others
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'01' 13 17 7120 "M jiyny " A" TN

N2 B0 3D w7 RO N207 ORRY 'O "D ;100 "0 7R N2 v a''Ta
WP PRTIPT 252 ant Dar 1> Y9OR 0D RIAMT 21001 'R ROT VNRH TIRINT
TOOBR RO 92 MR R IRMR TN DY 0D PUMR PR D107 21N K27 9D M PIDT

P'TY e B

1) .X¥ A7 RN

IMR2 1097 DR 12D 910 ’Y N7 awyn X932 T nna N
a7 NYRY nnT 7 9V 1057 DR POMY PR o
5210 RY 220577 AWYN K72 TN Nna
TR 1097 DX 1A
Twyn X972 71 nna 3% 'R P01 "M
WML ROW 9o 0B wOR HY 0
. MR Y 1097 DR UMY 7 nma
5Y 1097 DR POMW PRI 373 T W
T Y UMW RIT ROR T
3% 'R NYnw "M
TMR2 {07 DR 7217 9310 RS 27107 wyn 8922 71 nna 1
7 nna
3% A YR "M
WK 5% WK 2°N37 WK OY POmMY PR 1 X
3% 201 "
TWR 1299X1 MWD NDIMA 29107 UK DY Pomw X
2) XM
a) Nwp

i) Since >0y " agrees with 1wnw ' that om° nna is wyn K72

ii) presumably nwnw ' agrees with "0 "1 that 170x 0% v teaches that nx pomw
7rn By noon and it follows that 19ox °9% woR isn’t available to teach Pomw PX
UK 7y

iii) so how is it that '2 nwnw ' derives qwk v Pomw Pr from 195K 5% woR
b) y1n of the x7na here

i) 175x% *5% would have been enough to teach 7m°11 ¥ nosi X Pumw — the extra
voX is available to teach that nwx v pomw PR

7MR2 17097 DX 72ArY 9310 XY 2°n37 7 9V 17057 DR POMY PR N
711 NVAY NNt 7wyn X732 70 nma o
TMR2 OO DR 7212 9310 RY 29107
WML ROW 199K 999 WIR ¥ Tnd MR DY NoOn DR UMY 230 'R0 "M
¥ 10O DR UMY PRT AT MO wyn X932 7 nna 7 N2
o
TMR2 0D DR 7217 910 RY 20107
WML ROW 199K 209 #8218 Y n MR DY [09 DR UMY | 0230 'R waw M
¥ 10O DR UMY PRT 7T N2 7wyn X932 71 N2 7 nna
e
PRT 9217 $F58=255 WX HY 700 237 "2 v M
WR O UMW PR
WRA Y Pomw wR
WX 127DX) MWD NOIM2 UK Y Pomw 23212 ’D:W';

¢) vn of the X in PP ndon
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i) It’s not necessarily so that "vnw "1 agrees with >0y ' that %v nosi nR Pvmw
pairih

ii) mwnw " in fact holds that 7r°17 %y nosi nR PvMY PR because he agrees with
777 that marn X2 is yawn °nan

iii) It follows that Y9ox *5% wox is available for nwiaw ' to teach that 5y pumw Px
TR

7 9V 109 DR POMY PR
IMR2 1097 DR 12D 910 ’Y N7 awyn X932 T nna M
7% NYRY "nnT

TMR2 0D DR 7217 9210 RS 20007
WIATM? R2W 199K 992 WOR ¥ N0 PR 79 1057 X UMY 237 'R 0P "M
SY 057 DR UMW PRI 37N 0 MUSA K73 T N2 7 nna
T 9Y POMWT KT RO T
7R 7OBT NR 1Aty Do KD 20007
DR UMY PRT TN Mo 0o
NN TN NYRRT T 9V nos
TR 92712 71931 199K 257 WORT RN

777 DY 1057 DR POMY PR | 230 'R waw M
TwYn X932 70 nn2 7 nna

2% '3 PYRw
UK 9V UMY PR 2any

TWRT DY Pomw TUR
3% 201 "
WK 197DR) MWD NodM2 UK DY Pomw -

d) Note by the way that nao1n here in effect asks why the X723 here doesn’t use the
T2 of the X723 in PwIToR

3) X"wann
a) Nwp

i) Once the X n3 in PR says that nwnw ' can hold that %y nosi nx Pumw PR
o

i) Why doesn’t the X3 say the same for 01 ' as in the next table so that "
My in fact agrees with >0y " on this 7mp3

7MR2 17097 DX 72ArY 9310 XY 2°n37 T1°7 9¥ 1057 DR UMY PR N
7% NYAY NN 7wyn X732 70 nma o
7RR2 7OBT DR 12ty Yo 8D 20007
1597 9w B2 19K DD WOR wIT KDY 71777 9¥ 1057 DR UMY PR 27 'RC0P "M
7ODT AR PUMW PRT 77T M D' TWYN R92 710 naa 7 N2
nn by
TMR2 OO DR 7217 910 RY 20107
1991737779 199K 97 WIR W7 KN TR Y [09T DR UMY PR | 0230 'R wnw 1
1057 DR LMY PRT AT M0 2" wyn X932 T N2 7 N2
0 oy
PRT 92°17 71917 179K 97 WIRT RN 237 "2 v
WR OV UMW PR
WRA Y Pomw wR
237 2001 "
AWK 12°98) MW1 0N WK 9y Pomw S
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"D 1372 DT NP "D T 7''TaY D PRAR PR 772 "wana [R TRy ax 7]
MDD ROWHT B! B O RAT N1 N2 IRD JUPY 12 0T BAPT N0 2R D RO
12 IRDY 7732 JUPa RDR NAW T IR 7ODIA 779N RITT 9OPT DD 2w oD IRLa
N2 Naw 7T IOKR 70 790N KRNI N2 727 DITA DY DAk PaAR KDY XWT XD N0
D''wa b1 ROW Bp 7R 'D2 "ARTD N2OYR INDIAT TOD QMY 1T B2 a1 e nnh
"D Y AR Nawa Srw p''ya Dan vra bhw 2''ya XPIT MO M0D 2WR NN Wiy
"D B AR MNAR IRW M7 WORW MWD NAW M7 IR 70D 2R NID2 RINT Dwnw
29D 172 119977 AT IR 1T7AYY 1T 1D AR RIT 73T 799 INDT N2 R
TP'ITY D YR N7 IRATRR 2IONAT 1TORYT KD TODT N QWY NAW 9T M7

1) X

a) it’s Mmox to carry an Pnrx for 7% n°12 through 12297 n™wn on naw because 3127
N15 01PN D27 TR

2) "wn as explained by &"wann

a) The X7 refers to a person who has a o> ' 12 1112 5117 JoP 751 0N nw nod 2
nawa and the 131277 17 is 20¥» the person from bringing oo 1272 even though
there’s 057 N>

b) noRw

i) Maybe the & na refers to 71°n7 095 for an 7173 97w on any naw
C) mawn

i) Can’tbe

(1) 72w 791 is naw amy only for a wara P who’s o»° ' 12 and in that case
there’s no 117°n7 N> for the jop or for his father

(2) And 91 79 isn’t naw amT even Xn>>RTA for a 7173 even though he’s
rpdlay Baiio}

d) noxw

i) Maybe the & nx deals with an 5173 979 on nawa Snw noo 27y where there’s both
nooT N5 and 79°»7 N3

e) nmawn

i) nodT N5 isn’t NAw AMT even Xn>>TIXTA the same as 72°n7 N5 isn’t naw am7 for
a 717 even &kn»x7 and this 17 doesn’t change where there is both 7097 N>
and 7217 N3
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AN 19 779037 "7 9159 29127 230557 170N 11D N0 YR 0D BY AR 10 Ry R0 7''Ta
2 92 D% 321 N2 12 W mODT WY K92 01 71T 0% mwpa PRI 5oy vaph
R"P2 R'"'R 29102 WIAT 2197 1P A1 N7 INPIRY N7 2" YT 1190 A W M
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B'"oY "D 1TIN PIAD N2 WA NIRRT 2WTR WOT 2R "D RY oD "as 1''7a 'own
DITIN2T 1TORYT RDT 2R RN Y9DIND 1TOD MY 92 PRITAT DD N2 2K AR 1N
NS DIDMNY 1IN MWIN O'RWHA N2 IR FODT MMRP KD AN WP NS 2pna
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1) X

3)
b)

7127 were Wy D1pna o027 Tnuyn to be 0w nPor N0 where there is 79°97 N

But the 1321 weren’t 27127 7V in a N2 2P to be oo 127 NP°OK "0 where
there is 79°97 MR

2) mooin

3)

4)

a)

b)

Xowp
i) why not say more simply that

(1) we apply the 131297 177 to o*w7p that can be eaten the next day so that o*w7p
isn’t a "n12w myn"

(2) we don’t apply the 13277 17 to noo that can be eaten only on j0°11"0 9% and
IS a n12w mxn

77N
i) owip can also be a n72w mxn
ii) for example 770 also can’t be eaten after the 7%2°% of MR

L qulab)

a)

In a 09977 N2 the 13127 weren’t OO N5 DIPRA 2T TRyn but were on°27 TRYn
72770 Y99 QP2

X"wAnn

a)

Xowp
i) moowin should have asked its earlier x*wp here
i) why not say more simply that

(1) we apply the 11277 17 to =170 that can be eaten the next day or later so
that mnisn’ta "na2w mxn"

(2) we don’t apply the 131277 1°7 to oo which is a n72w mx» because it can
only be eaten that night
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